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' The ﬁgures in. the margin indicate
' Jull marks for the. questions.

‘. Answer either in English or in Assamese. =

1. Answer the following questibﬁs : 1x8=8
| (@) What is 's_upp'ly?..
e R

(b) Mention -one.cau;e,e,of shift m demand
 curve, ' '
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(c) Choose the correct answer :

GST is a/an (direct/indirect)
tax.
wa Te<l iy Cfered 3

 GST (202 9ol (2IOTF / #[QF) T4 |

(d) Mention one canon of taxation as given
by Adam Smith.

Wﬁm@ﬂrw@@qmm%9
(e) Fill in the blank :

NDP at factor cost is ‘ (Domestic
Income/National Income).

AT 517 77 0 8

oA 4TS NDP 202 (=11 =/

AGT =0T) |
(f) What is ‘ex-ante’ savings ?
‘ex-ante’ A%Y {2

(g) Write True or False :

When demand is perfecﬂy inelastic,
elasticity of demand (ey) is zero.

N AC SR AN

mﬁmmﬁmwﬁ@mﬁaw,c—ﬁm
vifemis fRfogiems! (ey) *7 = |
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(h) What is the main cause of
unemployment according to Keynes ?

(FER W0 el PR 5 e &

2. Answer any six of the following questions :
2x6=12

{a} What is opportunity cost? Give a
suitable example.

sl 5 52 951 Beige Sl fra

(b) Write two key characteristics of
monopoly that distinguishes it from
perfect competition.

GFCH0 I G 761 G A @iey SrEd
fara o “fsrafronEe ITRA o[l 29 74
S|

(c) Define ‘primary deficit’.
‘eteifis aift’s gl o

(d) Why is production possibility curve
(PPC) concave to the origin ? Explain.

Teofe FER-ITel @41 (PPC) &1 i@ o[
Snee iyl ¢4l |
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(e) 'Poir;t' out two- diffef'el?ce‘s- between
capital accounts and current accounts
of ‘balance of payments. .
T O TRl fRptel =i sﬁﬁ ot
e 75 mafas; cwz{\'@tl , :

() Define producers surplus.
@&W I W ot

- (g Suppose GDP is Rs. -5,000. Domestlc‘ N

residents receive factor payments from
~abroad of Rs.. 250. Foreigners receive
'Rs. 100 as factor payment from this

‘country. What is the value of GNP?

: !ﬁTi’E‘le 5,000 (%02 GDP | 931 SRBNE

Ror= o1l Rs. 250 W% 3@ % Ror

- ‘&% (™) */I Rs. 1oou@ﬁm|GNPaw
-~ R TR0

") Deﬁrieimultiplier.

e RE! B

(i) 4 Mention - any two reaso,ris,'behirid. shift
in-aggregate demand (AD) curve."

Ww&m(w)mm Riceent 7o |
T T T4
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() 'Define purchasing power parlty (PPP)
" with example.

Wﬂﬂimﬁﬁ;m (PPP)a 7{°‘@1 |

3. Answer any four of the following questions :
5><4—20

wﬁmmﬁmwﬁi‘w ey fral ¢

(a) Distinguish between National Income
.and Domestic Income. '

a@amwwwvﬁ%ﬁw

(b) State and explam the central problems
" of an economy.

amwﬁﬁa@@nwﬁmww
SeRTERI .

(c) 'Explain the . characteristiés of perfect
competltlon ‘

qﬁWWWWW|

(d) Explain direct taxes and indirect taxes
-+ and mention two merits and two
demerits of both the taxes.

mwmwwww@%ﬁm
o SPIR B 9 | -
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(e) How is market demand curve derived
if two individuals have different demand
curves for the same product?

GIFHRIS 1 AR &ffS T po) wfes
fengmem vifent @R 9 =7, corw q@R
SifEw @t Rmes oo 7'7 2ol 11|

(f) Explain average propensity to consume
(APC) and marginal propensity to
consume (MPC) with the help of a
suitable diagram.

TG (Sl 2ReTe] (APC) Wi &lifass (ol gaerel
(MPC) «i=ell 45! ©+19& foas 7aiers i <5 |

(g) Distinguish between Elasticity of
Taxation and Buoyancy of Taxation.

I Ffegsiel O F99 gdiffor sNid
(A |

(h) Derive the formula of income elasticity
of demand. If income elasticity of
demand is negative, what does it
signify ?
vifenis oiR ffomerrem e e w1 3
vifen i FEfogemrel fomeie 21, (9% 2
& T ¢
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4,

Answer any two of the following questions :

10x2=20

were fral R ghr e Sea i g

(a)

(b)

(c)

State and illustrate the law of demand
using demand schedule and demand
curve. What are the exceptions of the
law of demand ? 6+4=10

wifzal Rfes! & 1 pifEw Sepih < bifavi caeiE
sz wifzwl fafa i ﬂnmfmﬁﬁamﬁji
fe fae

Describe Keynes’ Géneral Theory of
Employment and Income with the help
of a diagram. ‘

foum F2me (@2 el i wwa Ade
wgrorR e fral |

Narrate the steps involved in estimation
of national income by Expenditure
Method of national income accounting.
What are the precautions to be
undertaken in this method? 6+4=10

JH W SR T Awed [foq smrEeimRs
e | @R oafos NI ARYTOITIZ
& &2
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(d) -State the two condltlons of equlllbnum )
‘of any firm. Explain how equlhbnum
price and output are determined in a -
competitive market. What explains the
efﬁmency of market equilibrium ?

2+7+1= 10

5 Bt @2 friftenES TS R
Wm%@eﬁmﬁaﬁmwmw,
W|mewwm?

(e) Illustrate Progressive, Regresswe and .
’ Proporuonal Taxation with diagrams.
4+3+3=10

‘ WW@N mwwvm%asaﬁ
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